PART-II GENERAL AWARENESS

51.  Which of the following country has no armed forces?
(A) Niger (B) Nigeria
(C) Iceland (D) Latvia
52. 2016 Olympics was heldin .................:
(A) London (B) Rio de Janeiro
(C) Doha (D) Beijing
53. Which among the following is called ‘Dragon
Kingdom’?
(A) China (B) Bhutan
(C) Mymnar (D) North Korea
54. TajMabhal in India, was built by Mughal emperor:
(A) Aurangzeb (B) Shah Jahan
(C) Akbar (D) Humayun
55. The Sino-Indian War between China and India was
faught in the year:
(A) 1956 (B) 1959
(C) 1962 (D) 1965
56. India has constructed Baglihar Dam on which
River:
(A) Sindh (B) Ravi
(C) Chenab (D) Sutlyj
57. The oldest News Agency in the word is .......... :
(A) AFP (B) WAFA
(C) BBC (D) CNN
58. Inwhich country it is mandatory for all male citizens
aged 18-27 to serve 1 year in Armed Forces?
(A) America (B) Canada
(C) Russia (D) Israel
59. The present President of India is...................... :
(A) Sonia Gandhi (B) Dr. Abdul Kalam
(C) Pranab Mukherjee (D) None of these
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Srinagar is situated on the bank of river :
(A) Ravi (B) Sutluj
(C) Jhelum (D) Chenab

Astigmstism is a disease associated with :
(A) Ears (B) Eyes
(C) Nose (D) Throat

Both Mahavira and Buddha preached during the

reignof’:
(A) Ajatashatru (B) Bimbisara
(C) Nandvardhan (D) Uday

How many litres of blood is present in the human

body?
(A) Onelitre (B) Four litre
(C) Six litre (D) Tenlitre

Which of the following battles changed the destiny
of'a Mughal rule of India?

(A) Haldighati (B) Panipat II

(C) Khanua (D) Chausa

Where is National Defence Academy located?
(A) Bengluru (B) Coimbatore
(C) Khadagvasla (D) Dehradun

Netaji Subhash Chandra Bose Institute of Sports is
located at:
(A) Mumbai
(C) Delhi

(B) Patiala
(D) Pune

The President can dissolve the Lok Sabha....... :

(A) On the advice of Prime Minister

(B) On the advice of Vice-President

(C) On the advice of Speaker of the Lok Sabha

(D) On the advice of Chief Justice of the Supreme
Court

Which of the following is bad conductor of
electricity ?
(A) Aluminium
(C) Iron

(B) Copper
(D) Carbon
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The first electric railway was opened in :
(A) 1853 (B) 1885
(C) 1905 (D) 1925

Who is called the father of White Revolution?
(A) Dr. Verghese Kurien

(B) Nanjunda Swang

(C) M.S. Swaminathan

(D) U.R.Rao

The Barabar Hills, the cave dwellings of Ashokan
era, are situated near :
(A) Patna

(C) Sarnath

(B) Gaya
(D) Allahabad

Where is the National Metallurgical Laboratory
located?

(A) Jamshedpur

(B) Nagpur

(C) Thiruvananthapuram

(D) Visakhapatnam

Which of the following is correctly matched?
(A) Gulbarga - Karnataka

(B) Midnapur - Gujarat

(C) Wardha - Madhya Pradesh

(D) Cochin - Tamil Nadu

On which river is Sardar Sarovar Project located ?
(A) Krishna (B) Godavari
(C) Narmada (D) Cauvery

The black hole theory was discovered by :
(A) S. Chandrashekhar

(B) Har Govind Khurana

(C) C.V.Raman

(D) S.Ramanujam
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